Algebraické rovnice
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A+B =(4+B)-(A*FA-B+B°)
A’—B*=(A+B)-(A—B)
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Logaritmické rovnice
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Goniometrické rovnice
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Vlastnosti funkcii
sin(—x)=—sin (x)
cos(—x)=cos(x)
tan (—x)=—tan(x)
cot(—x)=—cot(x)
Kvadratické rovnice Kombinatorika
2
a-x"+b-x+c=0
=n
a-(x—x,)(x—x,)=0 P(n)=n!
' n!
__b _c O e —Y
X\ tx, ===, X.x,=— vt g Lol eng !
a a ol
V(k,n)*( —}c)'
Parabola V'=n*
2 n!
=ax+bx+c k,on)=————
7 R Cle ==
y=[-2 -2 e
=3¢ 3q! =" k“)
k
_ n n—k+1 3 k=1
Hyperbola A= =1/ b
_ax+b
cx+d
_ d
y==, x=——
¢




Derivacia funkcie

y=c f(x), y'=cf'(x)
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Objem rota¢ného telesa
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Dizka krivky

Povrch rota¢nej plochy
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